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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry 1 mark each.

The value of ¥ (64)_2 is:

1
(A) 3

1
® 5 (© 8

A number is an irrational if and only if its decimal representation is :
(A) non-terminating (B) non-terminating and repeating

(C) non-terminating and non-repeating (D) terminating

The degree of the polynomial 2 —y%—13+2y is :
(A) 2 B) 7 (© 0 (D) 3

If two interior angles on the same side of a transversal intersecting two parallel lines are in
the ratio 2 : 3, then the smaller of two angles is :

(A) 72° (B) 108° (C) 54° (D) 36°

Abscissa of a point is positive in :
(A) Iand II quadrant (B) Iand IV quadrant
(C) I quadrant only (D) IV quadrant only

Euclid’s stated that all right angles are equal to each other in the form of :

(A) an axiom (B) a defination (C) a postulate (D) a proof

If E is a point on side QR of APQR such that PE bisects ZQPR, then :
(A) QE=ER (B) QP> QE (C) QE>QP (D) ER >RP

The things which are double of same thing are :

(A) equal (B) halves of same thing
(C) unequal (D) double of the same thing
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AABC=APQR. If AB=5cm, ZB=40° and ZA=80° then which of the following is true.
(A) QP=5cm, ZP=60° (B) QP=5cm, ZR=60°

(C) QR=5cm, ZR=60° (D) QR=5cm, ZQ=40°

If the sum of two adjacent angles is 100° and one of them is 35°, then the other is :

(A) 70° (B) 65° (C) 135° (D) 145°

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.

RN

16 9

Simplify [

In figure 1, if line segment AB intersects CD at O such that ZOAD=80°, ZODA =50° and
£Z0CB=40° then find ZOBC.

A C

Figure 1

A point lies on x-axis at a distance of 9 units from y-axis. What are its coordinate. What will
be its coordinate if it lies on y axis at a distance of —9 units from x-axis.

In AABC, the bisector AD of Z A is perpendicular to side BC. Show that AABC is an isosceles
triangle.
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15. Infigure 2, AC=XD, Cis midpoint of AB and D is midpoint of XY. Using an Euclid’s axiom,
show that AB=XY.

Figure 2

OR

Lines PQ and RS intersect each other at point O. If ZPOR : ZROQ=5 : 7, find all the
remaining angles.

5

Find four rational numbers between - and 7

Plot the points A (3, 0), B (3, 3) and C (0, 3) in a cartesian plane. Join OA, AB, BC and CO.
Name the figure so formed and write its one property.

In figure 3, is line [ is parallel to m ? Justity your answer.

Figure - 3
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SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

6 — 43

Simplify the following by rationalising the denominator : 6+ 473"
OR

Ifx=2+x/§,findthevalueof 2 +i2.
X

In figure 4, if AB||CD, then find the value of x and y.

c Q
Figure 4

Two sides of a triangle are 8 cm and 11 cm and its perimeter is 32 cm. Find the area of the
triangle.

3 3
2 2
Simplify : - = - + =yl .
implify [x 3y] [x 3 y]

Represent /2 on the number line.

In figure 5, if QT | PR, ZTQR=40° and ZSPR=30° then find the value of x and y.

Figure 5
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1 2
Factorise : x> + — +2—-2x — —.
X X

OR

Determine whether (3x—2) is a factor of 3x%+x2—20x+12 ?

— p
Express 0.001 in the form of a, where p and q are integers and q= 0.

E and F are respectively the mid points of equal sides AB and AC of AABC. Show that
BF =CE.

OR

In figure 6, AB||CD and O is the mid point of AD. Show that

i) AAOBZ~ADOC.

(ii) O is also the mid point of BC.

C D

A
Figure 6

28. Expand the following :

() (x—2y-—32)>2

@ (v -3).
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SECTION - ‘D’
Question numbers 29 to 34 carry 4 marks each.
Prove that the sum of the angles of a triangle is 180°.
OR
Prove that the angles opposite to the equal sides of a triangle are equal.

Factorise : x3—6x2+11x—6.

D is a point on side BC of AABC such that AD=AC. Show that AB > AD.
OR

In figure 7, the side QR of APQR is produced to a point S. If the bisectors of ZPQR and

ZPRS meet at point T, then prove that ZQTR = % ZQPR.

P T

Figure 7

Without actual division, prove that (2x* — 6x3 +3x2 + 3x —2) is exactly divisible by (x?—3x +2).

In figure 8, AC=AE, AB=AD and ZBAD= ZEAC. Prove that BC=DE.

E

D C
Figure 8

If a+b=12 and ab=27, find the value of a3+bd.

-00o0-
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Qug - ‘37’
YT GG 19 10 96 Tk W97 1 37 T &

H(64) 2 FHAAE :

1 1
(A 3 ® 5 © 8

Teh G 37Uy T § Ife 3R shddl Ife ST Soderd Y9K :
(A) oHiqe (B)  STHId qe 3MTedi §

(C) 3Tdiq qm 3Tt § (D) wid®

TEIR 2—y2— 1P +2y/ HI W T :
(A) 2 B) 7 © 0 (D) 3

Ffs T foeieh Y@, S S1 SHiaT X@etl 1 ied! © & T o SR o §1 ST B0 § 22 3 31 T
TATHIABRAFE

(A) 72° (B) 108° (C) 54° (D) 36°

T fog 1 451 (Abscissa) FTcH® BT
(A) 1T I =gafe o (B) IdeMIV =quter &
(C) head I =Iqater # (D) whad IV aqaier |

IfoeTe 3 Fel o fof Feft THRI0 TR FAM B &1 I Fo ford w9 H o
(A) THefwfed (B) Tk TR (C) Th HAfweRom (D) T Sud

Ife APQR &1 4ST QR W T w1 forg E ferd § T PE, £ QPR ! wofgford otan €,
(A) QE=ER (B) QP > QE (C) QE > QP (D) ER >RP

T IEIU S T & % DI A &, TER
(A) FHM B (B) U =g w1 3Tl gt §
(C) o9 Bt € (D) 39 9% &I T Bl €
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AABC~APQR | If€¢ AB=5cm, /B=40°7d L/ A=80°8 Al fTAfafGa ¥ A 9 W A ¢ :
(A) QP=5cm, ZP=60° (B) QP=5cm, ZR=60°

(C) QR=5cm, ZR=60° (D) QR=5cm, ZQ=40°

Ffg < STE IV 1 AN 100° T 3TH & Teh 35° 7, O THA A0 T

(A) 70° (B) 65° (C) 135°

Qug - ‘'H’

U9 GEAT 11 € 18 Ak Uk U9 2 3k T &l

[ﬂ]‘% x[é]‘%aﬁwm:

16 9

3Tmpfa - 1, 9fe T W@ AB, CD &1 O forg W U@ wfd=ee w1 8 ff £ OAD =80°, £ ODA =50°
g LOCB=40°%T, @ £ OBC T1d HiferT :

A C

D

I - 1

13, x- 31§ R TF fog y - 378 | 9 Teheh &1 0 W Feord &, 1 ook Feonss s €2 swes Feniss o &
AR TT y - AT R AT R AN 2 - T F (—9) Tk I U WR?

14. AABCH, ZA 1 HafguNi® AD [T BC R @ €1 <WsT fF AABC & HHfgarg et 2|
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15. 3T&fd -2H, AC=XD ¥, C, AB % 94 fog ® qen D, XY &1 77 fog €1 gferte & wa AR
(axiom) T TN F¥h SWET foh AB=XY.

B X
/ ¥
A Y
ATRfd - 2
HAYAT

@ PQ 91 RS Tk T &l fag O W Wfa=sg il &1 afe ZPOR: ZROQ=5:7 &, df 39 @eft
I G I |

3 amg%aﬁaaﬂvﬁﬁamaﬁﬁﬁm

7

fogaT A (3, 0), B (3, 3) @1 C (0, 3) = Fdwn® a@ # aAeifEd :INTI OA, AB, BC @21 CO !
fHeTET 39 TR o 3Thfa 1 A fafE qen S&e1 T T0red (property) 1 faf@w

3T 3§ 1 X1 [, @1 m o TR g1 T 3w 1 i s |
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U9 WEAT 19 | 28 T Weh UYT 3 31k T &l

6 — 43

6 as3 T, L hT IRHEIHIOT hish, TIA hifod |

HAYAT

A x =2+3 % @ x? + — AT T FY
X

SHMd - 4 §, A AB||CD €, @ x T y & T 14 it |
a P B
50° '

<
<%

I - 4

Ife Tk 19 1 T YSITE 8 cm AT 11 cm § 1 ST IRATT 32 cm ¥, @ Y 1 &orhed 1@
HIfSTT |

[x - %y]g - [x + %yrﬁlﬁwaﬂml

J2 &1 9En W R fEa Fife)

aTmepfd - 5, 9fc QT L PR, Z TQR=40° T ZSPR=30° %, Tl x T yy % A T i |
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2 1 2 ,
X +—2+2—2x—;é\5w@€aﬁm|

X

AT

A AT foh = Bx —2) FGIE 323 + 12— 20x + 12 FT Th PHGE § ?

0.001 % % T9 H Ao I STl p 91 q IOk © 92 q= 0 7 |

AABC %1 9HM yST13ii AB @91 AC % %W9I: Ed F we fog €1 gwiise f BF = CE.
areran

MM - 6 H, AB||CD T AD &1 &7 fag O ¥1 quIfs &

(i) AAOBZ=ADOC.

(i) O, BCH ot 77 fag 71

A B

SHA - 6
28. fr=fafEd & J9R HIfVT
() (x—2y-—32)>2

@ (v -3)".
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Y9 HEAT 29 W 34 9 Uk UI 4 3Tk T |
fag FIfeT for wa f59s & i 1 240 180° BT
ar9raT
fag FifeT fo T s =t T9m yoiell & e % 10 99 e ¥

3 —6x2+11x—6 % OGS FHIST |

AABC &1 < BC R fog D 30 y&R ford & ff AD=ACT| TWizw f& AB > AD.
rerar
3T - 7 W, APQR &I Y= QR i fog S qk aIgrn o1 €1 afg £ PQR @ £ PRS % HHIGHTSI

& fag TR fier &, @ fag =ifse f& AQTR=%4QPR.
P T

(x2—3x+2) FgIR (2x* — 623 +3x2 + 3x — 2) I Yuiqan fadiiaa Lt

3T - 8 H, AC=AE, AB=AD @1 /BAD= ZEAC ¥ fag ifu f&% BC=DE.
E

C

D
ST - 8

Ife a+b=12qAMab=27 T, dl a3+ b3 HT HH A HIfST |
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